
   Lesson 3 Quiz        

SBU 2020  Lesson 3 (quiz)   

 

 

1) The board is being played in no-trump (generally written as NT) 

 The given card combination is in one suit only, and the suit has not yet been played. 

 How should South, declarer, play to make as many tricks as possible in the suit shown? 

 

a) AJ92   b) KJ65   

  

??? 
N 

W     E 

S 

 

??? 

  

 ??? 
N 

W     E 

S 

 

??? 

 Q104    A73  

 

 _______________________________   ________________________________ 

 

 

c)  K6   d) J1065    

  

 ??? 
N 

W     E 

S 

  

??? 

  

  ???   
N 

W     E 

S 

 

???    

 AJ1043      AQ9  

 

 _______________________________   ________________________________ 

 

 

 

2) You are West, declarer in a NT contract. 

 North leads Q and you see these cards: 

 

 AK 

 QJ2 

 AK43 

 7642 

N 

W     E 

S 

 9862 

 A1093 

 86 

 AK5 

 You take the first trick with A. 

What now? 

Which is the Work Suit and how will you play it? 

 

_________________________________________ 

 

 

 

3) A NT contract with South as declarer.  This is the spade suit: 

 

  Q42    With the sequence 10-9-8 we lead the highest. 

West leads 10. 

 

Dummy plays 2 

 

Which card should East play? 

 

___________ 

 

  10986 
N 

W     E 

S 

 

 KJ53 

 
 A7 

 

 
 


